Creaieboi

R BT

3D Printer User Manual

Make creation easier




Step One

/
N R SRS 115

Assembly base and frame

Createbot | Make creation easier

ZFR | Item
! £i1R | Frame
2 JERRE | Base
3 M5%30 X 4
4 M55 | M5 Spring Washer

#4FULI] | Operating Instructions

FIMS A F AR T IR ER4BIMS ST I Bl 25

P LB SR L2 T AR AMIM S BRET AR R B 55

gse an electric screwdriver to lock the bottom four M5 screws in turn

’ Lock four M5 screws at the bottom in turn with M5 Allen key )

~—_



Z#R | Item

t
=
A L
S =
w
x| ¥ g
e ]
2
~— <

W] | Operating Instructions

=
R
£
s
£

N

=
o
o
X
&
i
&
K
£
=
>
HE

M75AIRTF | Inner Hexagon Spanner

TR BRI BT [ e R R b

the profile with M4 Allen key in turn

Fix two T-nuts on

LEIERISIZR
Installation of fe

tebot | Make creation easier

Crea



Step Three

ZH | Item
1 #iIE | Frame
2 JEEE | Base
3 M5%8 X 3
4 MSTEMER: | M5 T-Nut

#4EUH] | Operating Instructions

ﬁiiiiiiiiiiiw
« M7 fIRF | Inner Hexagon Spanner ‘
MSPIARBFAUH T E LT AT |

Adjust the limit switch and z-axis slide plate to the reasonable height. ‘
Fix three T-nuts on the profile with M5 Allen key. )

|
|
‘ P U PR TR 5z T P 38 v T
|
|

EEZHRAFIREES ()

Fixed Z-axis limit switch retainer (left)

Createbot | Make creation easier



2| Item
1 ZiI% | Frame
2 JREE | Base
3 M5*8 X 4
@ | WSTRUZEE | M5 T-Nut

#4EUH] | Operating Instructions

« A75AIRTF | Inner Hexagon Spanner

FAMS A7 TR G AT AL R R R T [ e AR T
Rl Ry, TSRS HBEN, HEIBIR.

Fix two T-nuts on the profile with M4 Allen key in turn.

EETEGES (%) -
Fixed T-shaped reinforcement (right)
Createboi | Make creation easier

L During assembly, the T-nut will be positioned and locked automatically. j




Step Five T

1 yARE: I Frame
2 JREE | Base
K] Fi5HEFE | Main control power box

#AFULI | Operating Instructions

ﬁ77777777777777777\
‘ T I AR U 2 A DR TR BEA TR A o ) ‘

SEATT LAFER 77 R el 1 — B BRI 5% Y R E A e ‘
‘ AR, G LEAR R IR ATNB R T ‘
‘ This step is to connect the power supply and related parts wiring operation, ‘

please open the video tutorial information in the memory card or USB flash drive to operate.

‘ You can also get the related operation video directly from the hyperlink below or scan the QR code. ‘
L Finally, you can find our contact information at the end of the page in case you need additional help.

Youtube URL: hittps://youtu.be/NmBNpzI8fOM

Bilibili URL : https://www.bilibili.com/video/BV 1iB4y1T7fA/

LEARERIR R B (FTFFASR) PELE | Wiring guide video BT | Assembly guide video
Installation of power supply and wiring (open video)

Createbot | Make creation easier



Congratulations !

You have completed the assembly, then enjoy the fun it brings youl!

Creaieboi

Make creation easier

Wuhu R3D Technology Co., Ltd.

https://www.createbot.net

Whatsapp:+8618067195818

Email: keven@r3dprinter.com

Add: Factory-Fanchang Economic Development Zone,Wuhu City,Anhui Province



